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+hat £ (A1) = €r(BA) where tv(c) 15 the sum
o the main c}“c\th elemenes Caq, A=li2,m o a
square matrix C of ofder m.

(h) Let A, K, and 0 be 2x2 matkices. Assu;n{mg —f,kq{ A 'S
vertible  find a macrix C such +hae C s the
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(W) Let A= Fid dec(A)
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(3) Fond o0 basic Sor the_ Space spanned by the vector ¢
V\:U 1 005) = (2, -¢, -3 -2 5) \/3'(0 3’/3 /0, U)
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U?) \‘mA {l Stc\ndc\n‘ EQS\S Ve ctor -élmt can be f\c“ecl o l,e
set {V, s} 2o produce a basis Sor R> W here
Vi= (=1.2.3), V,= (], -2, -2)
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fchmiit process “+o ‘C(%hédcokm 'é}le, }ﬂké\‘s 31/(1,(/(1 (,(3}
into an orthonormal basis wheve
U= CLaa ) Us=(=1. ). 0) « Uy= (I 2.1)

(b) Lee IR have the Euclilean produce. and lec W be the
gabspace syﬂnneJ b/ U==0Ctcl,0) Up=t-1, |, o0, 0)
Uy= (L2 1.0) Find the 0‘(tl’\ogonal proje ction o §
A= (L2 2, 1) on W,

s (20%)
Z/@f. Tt\kz_') \Rl lyﬁ élqe [\‘V\gq)f 0‘)9\[1\‘(10\" JGJCMQLJ !7/
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